
Enter the Following:

f(0) = 72,00 Hz
Q(0) = 0,35
f(p) = 22 Hz

Q(p) = 0,70

k = 14,260 (k>0 required)

Choose C2

C2 = 0,022 µF

The Component Values Are:

R1 = 9,41 kOhms
R2 = 270,00 kOhms
R3 = 100,00 kOhms
C1 = 2,510 µF
C3 = 0,2344 µF

DC gain = 20,60 dB

met Fo70/0,35 Met Fo73/0,35 met Fo86/0,35 met Fo86/0,45 met Fo89/0,45->0,7

-20.00 

-15.00 

-10.00 

-5.00 

0.00 

5.00 

10.00 

15.00 

20.00 

1.
0 

1.
3 

1.
8 

2.
4 

3.
2 

4.
2 

5.
6 

7.
5 

10
.0

 

13
.3

 

17
.8

 

23
.7

 

31
.6

 

42
.2

 

56
.2

 

75
.0

 

10
0.

0 

13
3.

4 

17
7.

8 

23
7.

1 

am
pl

itu
de

 

frequency 

correction speaker total 

-150.00 

-100.00 

-50.00 

0.00 

50.00 

100.00 

150.00 

1.
00

 
1.

19
 

1.
41

 
1.

68
 

2.
00

 
2.

37
 

2.
82

 
3.

35
 

3.
98

 
4.

73
 

5.
62

 
6.

68
 

7.
94

 
9.

44
 

11
.2

2 
13

.3
4 

15
.8

5 
18

.8
4 

22
.3

9 
26

.6
1 

31
.6

2 
37

.5
8 

44
.6

7 
53

.0
9 

63
.1

0 
74

.9
9 

89
.1

3 
10

5.
93

 
12

5.
89

 
14

9.
62

 
17

7.
83

 
21

1.
35

 
25

1.
19

 
29

8.
54

 

correction 


